Test Questions 2

You must answer question 1. You can choose one
among the three choices for question 2. Be sure to give
examples from the stories.

1. In all three stories, the main character fails in some
way. Compare the three narrators and ways in
which they failed. In what ways are the characters
and their failures similar? Use examples and
evidence from the story to support your idea.

2. Choose one:

a. “Harrison Bergeron”: Is the equality in
“Harrison Bergeron” really equal? What
evidence from the story suggests that it is or is
not true equality?

b. “Birthmark”: Do you think that the husband
in the story would have married his wife even
if she never got plastic surgery? Why do you
think so? What evidence from the story
supports your idea?

c. “The Monkey Garden”: Why does the
narrator of “The Monkey Garden” get angry
when Sally starts to Kkiss the boys? What
evidence from the story supports your idea?



